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BACCALAURÉAT - SESSION 2013 - DNL SES - ANGLAIS
---------------------------------------------------------------------------------------------------------------------------

THEME : Quels sont les fondements du commerce international et de l'internationalisation de la production ?
SUBJECT : GLOBALIZATION AND TRADE
Intra-regional and extra-regional merchandise exports of WTO regions, 1990-2009 (Billion dollars and percentage)
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Source: World Trade Organization http://www.wto.org/english/res_e/booksp_e/anrep_e/world_trade_report11_e.pdf
Could the iphone be assembled in the U.S.*?

An interesting hypothetical scenario is one where Apple had all iPhones assembled in the US. Assuming that the wages of US workers are ten times as high as those of their PRC* counterparts and their productivity would be equal in 2009, if iPhones were assembled in the US the total assembly cost would rise to US$65 and total manufacturing cost would be pushed to approximately US$240. Selling iPhones assembled by US workers at US$500 per unit would still leave a 50% profit margin for Apple. As iPhone sales increase globally, that profit margin would also increase. In this hypothetical scenario, iPhones, the high-tech product invented by the US company, would contribute to US exports and the reduction of the US trade deficit, not only with the PRC, but also with the rest of world. More importantly, Apple would create jobs for US low skilled workers; (...).In a market economy, there is nothing wrong with a firm pursuing profit maximization. (...)However, (...) [it] may be an effective policy option to practice CSR* by creating jobs for low skilled workers, such as using US workers to assemble iPhones. Y. Xing, N. DETERT 

*PRC: the People’s Republic of China; *U.S.: the United States* CSR: corporate social responsability
Source: ADB Institute Working Paper, n°257, 2010 December

http://www.adbi.org/files/2010.12.14.wp257.iphone.widens.us.trade.deficit.prc.pdf
QUESTIONS:
1. What are the characteristics of world trade today?

2. Why does not Apple assemble the iphone in the United States?
3. Would there be advantages if Apple decided to assemble the iPhone in the United States?

RAPPEL

20 minutes de préparation; oral : 10 minutes sur le document et 10 minutes d’entretien
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